C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 783+9= 2) 441+7 =
1.
2.
3.
4.
3) 522+9= 4) 220+4 =
5.
6.
7.
8.
5) 148+4 = 6) 432-9=
9.
10.
7) 162+6 = 8) 252+4 =
9 390:5= 10) 672+8=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 783+9= 2) 441+7 = g7
80 7 60 3 L
1 - __6s3
; : 3, 58
4. 29
3) 522+9= 4) 220+4 = 37
50 8 50 5 >
4 200 20 fe __ 48
9 450 72 ’
7 27
8. 63
5 148+4= 6) 432:9= 73
30 7 40 8 o
4 120 28 w0.___ 84
| 9 360 72
7) 162+6 = 8) 252+4 =
20 7 60 3
19
6 120 42 4 240 1 i
9 390:+5= 10) 672+8=
70 8 80 4
5 350 40 g
| 8 640 32
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